A £ 0l & AF & S

Al A

A HOHISKIN
M Zoje SXNSH
Rl ZoHe! SXSA (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
ZOHRI =Xt 262,352,426 247,720,112 14,632,314
= 208,826,896
== 53,525,530
el sNsd 262,295,349 247,657,112 14,638,237
= 208,826,8%
= 53,468,453
ool SXSH 65,805,49% 58,473,967 7,331,529
= 54,277,785
=S 11,527,711
gdoielis =0 K= 50,354,013 48,267,630 2,086,383
= 44,617,480
== 5,736,533
308 AHXIEMISOIE 50,354,013 48,267,630 2,086,383
= 44,617,480
< 5,736,533
01 HAHHBSEEXS 50,354,013 48,267,630 2,086,383
O&eld=s 50,354,013
= 44,617,480
= 5,736,533
=== (01=) X2 8,017,934 4,161,437 3,856,497
= 6,167,642
=S 1,850,292
308 AtXIEMSOIH 8,017,934 4,161,437 3,856,497
= 6,167,642
< 1,850,292
01 XN BSELES 8,017,934 4,161,437 3,856,497
OFM=E(0I=x) 8,017,934
= 6,167,642
= 1,850,292
Z=E (X9 8) K= 4,247,238 3,130,810 1,116,428
= 3,267,106
= 980,132
308 XtXIEMSO0IH 4,247,238 3,130,810 1,116,428
= 3,267,106
s 980, 132
01 XN BELES 4,247,238 3,130,810 1,116,428
OH+=g (X2l S) 4,247,238
= 3,267,106
[ 980,132
ZOHe! MEorE X2 1,358,006 1,356,677 1,329
308 AHAIEHMSOIE 1,358,006 1,356,677 1,329
01 HAHHBSEXRS 1,358,006 1,356,677 1,329
OO0 MeorAETIA (= S XIY) 1,358,006
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2A:

M Zoje SXNSH
s ool SXsH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
OZHLIXIRAE SAK MLIMHEHI(E) 21,960
308 AXIMSOIA 4,500 4,500
01 XN BSELES 4,500 4,500
OZOHAXIZHE SAK HLMEHI(AIZ) 4,500
ol XX 137,620,185 127,186,004 10,434,181
= 111,796,733
= 25,823,452
JOHI XS HEAIE 2 2,112,189 1,805,801 306,388
307 212+01& 11,475 11,475 0
11 AMEISXAEEES 11,475 11,475 0
OS=stl, JHAMLMHEAIE AHFHS
K& 11,475
308 AXIMSOIA 1,890,714 1,794,326 96,388
01 XN BSELES 1,890,714 1,794,326 9,388
OHMAXNAMEANE 2SE 1,832,718
OZUMAXSBMHEANE SSHMUESE 25,776
OZHAXNATHE AL SAHL A SAH| 32,220
403 XM SAH=01H 210,000 210,000
01 AR A= 2 £ 210,000 210,000
OFMLIESHAE JIsE2(0H) 150,000
OMUMEAE USdILH JIsEZ 60,000
OIS MEAL JIS2ES 733,090 918,577 /185,487
= 484,094
= 248,996
402 2I2FX=201H 27,800 0 27,800
= 13,900
= 13,900
02 QI X2 AL EE (01X THE 27,800 0 27,800
O MAS EOHAIE JIS2S 27,800
= 13,900
== 13,900
403 AXIEHMSAH=0ld 705,290 918,577 N213,287
= 470,194
== 235,096
01 AXISHHA=2 22X 705,290 918,577 A213,287
OHMAXNATHEAIE JIS2ES 705,290
= 470,194
= 235,096
ZOHQI A SEONAIE XIR(S) 175,293 172,500 2,793
= 70,117
== 105,176
307 elzto| & 175,293 172,500 2,793
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SA EOjOI= XDt
M Fojol SXEX

el Joe Agid (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 80,077,308
=S 10,295,653
308 XXM SOIA 90,372,961 84,791,825 5,581,136
= 80,077,308
== 10,295,653
01 XN BSELES 90,372,961 84,791,825 5,581,136
OZoje 2sXas80 A 90,372,961
= 80,077,308
& 10,295,653
2SE2L s N 711,130 264,112 447,018
= 630,115
= 81,015
308 XXM SOIA 711,130 264,112 447,018
= 630,115
=S 81,015
01 XN B2 LS 711,130 264,112 447,018
OESEX a0 711,130
= 630,115
[ 81,015
22T SS=H WSAE 106,450 106,450 0
307 @120l & 106,450 106,450 0
03 PIHHEE 22X 106,450 0 106,450
OgLHMe s5=H2 s 106,450
LEHY F2AERZ 97,057 55,300 41,757
= 86,000
=S 11,057
308 XXM SOIH 97,057 55,300 41,757
= 86,000
== 11,057
01 XN BSELS 97,057 55,300 41,757
Ogadie FRAEAA 97,057
= 86,000
S 11,067
ANSLLHIXAME 28 NS 538,000 505,000 33,000
= 269,000
= 269,000
308 XXM SOIA 538,000 505,000 33,000
= 269,000
=S 269,000
11 SIS0t 4 A AS A 538,000 505,000 33,000
OXNSLL AR ZAH 2 KA 538,000
= 269,000
[ 269,000
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SN &
X XH -
[ I

=aak

SA - ZE . BR() - HRAR - BES of v G o HIDE2

ZOHOt It LFXA 3,651,707 1,834,711 1,816,9%
= 2,556,165
== 1,095,542

307 el2to| & 3,651,707 1,834,711 1,816,9%
= 2,556,165
< 1,005,542

1 AMISXAIEEXS 3,651,707 1,834,711 1,816,9%
OFOHOL 15 =X 3,651,707
= 2,556,165
= 1,095,542

LETHEMHIA HIRH X 5,079,384 4,112,424 966,960
= 4,500,720
=S 578,664

308 XXM SOl 5,079,384 4,112,424 966,960
= 4,500,720
< 578,664

01 XN BSELES 5,079,384 4,112,424 966,960
OLEMEAMEIL BI2X XIE 5,079,384
= 4,500,720
== 578,664

SAHEEXE HIRH X 43,031 36,295 6,736
= 38,129
= 4,902

308 XtXIEMSO0IH 43,031 36,295 6,736
= 38,129
s 4,902

01 XN B2 LS 43,031 36,295 6,736
OUNZEXA X X2 43,031
= 38,129
[ 4,902

AIZHE 00 QI QHOFAIFA ALY 911,141 715,000 196, 141
= 728,913
= 182,228

307 212+01& 911,141 715,000 196, 141
= 728,913
= 182,228

11 AMEISXAEEES 911,141 715,000 196,141
OB 2 AZE0HIQHOIA} THA 911,141
= 728,913
== 182,228

o LR X (SXLRel) 3,333,967 3,247,400 86,567
= 2,564,590
= 769,377
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SRR

X XH -
o=

ol Zone!l XMEXd (Gt H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

308 XXM SOIH 3,333,967 3,247,400 86,567
= 2,564,590
== 769,377

01 XN BSELS 3,333,967 3,247,400 86,567
Ol =X LXtel X2 3,333,967
= 2,564,590
& 769,377

ZoHQ! LB (ML) LXtel K& 8,244,600 8,244,600 0
= 6,342,000
= 1,902,600

308 XtXIEMSO0IE 8,244,600 8,244,600 0
= 6,342,000
=S 1,902,600

01 XN BSELES 8,244,600 8,244,600 0
OZopel L& (MLM) LXel XA 8,244,600
= 6,342,000
[ 1,902,600

ZOHQ! LB (AIZMA) X2l K& 2,107,300 2,107,300 0
= 1,621,000
= 486,300

308 AFAIEHMSOIE 2,107,300 2,107,300 0
= 1,621,000
= 486,300

01 AXEH B2 LS 2,107,300 2,107,300 0
OZroHe! LBFE(AIZEAI) X2l X1 2,107,300
= 1,621,000
== 486,300

LEIHALAZS AL BEAH 510,110 408,200 101,910
= 392,392
= 17,718

308 AHAIEHMSOIE 510,110 408,200 101,910
= 392,392
= 117,718

01 AXEH B EES 510,110 408,200 101,910
OLLHMILLESAF EXZALY 510,110
= 392,392
= 117,718

LSO IIEFAXIA 158,571 120,000 38,571
= 111,000
== 47,571

307 gl2to| & 168,571 120,000 38,571
= 111,000
= 47,571
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M BOHI=XD

=

A mojel =X
s ZO0He AlEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2

| OZoHFAI sOrSUIE 12,750

ZOIUHFAL 2 N (A2, 2%) 45,129,085 42,249,026 2,880,029
2 39,987,770
= 5,141,285

308 KIXIEHRISOIE 45,129,055 42,249,026 2,890,029
2 39,987,770
= 5,141,285

P CEREREESS 45,129,085 42,249,026 2,880,029
OZOOINFAIL 22 X2 45,129,085
2 39,987,770
= 5,141,285

ZOIUHFAIL 2 (AR, &) 128,754 128,754 0
= 114,086
= 14,663

308 XIXISHRISOIE 128,754 128,754 0
2 114,086
= 14,663

01 XXM Z AL T 128,754 128,754 0
OZOHRINFAIL HHIAL0EE K& 128,754
2 114,086
= 14,668

ZOJUHFAIL 2 K (HE) 239,632 200,000 3,63
2 92,050
= 147,562

307 212401 239,632 200,000 39,682
2 92,050
= 147,562

RN NEEEEETEES 239,632 200,000 3,632
OmsHE el el &7 - 2 239,632
2 9,050
= 147,582

ZOHRIANFAIL DS 954,693 1,160,114 £ 205,421
= 526,290
= 428,403

408 XHXI SHAI S K201 554,693 1,160,114 AB05,421
= 326,290
= 228,403

01 XIXIEHH X 22 554,693 1,160,114 805,421
OBOfIHFAIL Vs 554,693
= 326,290
= 228,403

405 XHoH S 400,000 0 400,000
2 200,000

_11_




2A:

ZoHeI= X

=

M Zoje SXNSH
s ZO0He AlEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 200,000
01 ML ESFSHI 400,000 0 400,000
OlloiZoHl & E &XI 400,000
= 200,000
= 200,000
O H=AIE E K& 1,050,688 1,093,368 A\42,680
308 XtXIEMSO0IE 1,060,688 1,093,368 A\42,680
01 AXNBEES 1,050,688 1,093,368 A42,680
OZOHAAFAIL2SRIA(OHL!) 344,321
OssHM2ST=+=g X 160,170
OZORUNFAIE SAA EHSTZ2
A& 30,000
OHONUNFAIES ALK LAHIRE(HE2
=) 516,197
O H=AIE SIIEED| elE X 20,544 20,544 0
= 15,408
[ 5,136
308 AXIMSOIA 20,544 20,544 0
= 15,408
< 5,136
01 HASHHBSEXS 20,544 20,544 0
OFAANFAIE SIIEED| dEXE 20,544
= 15,408
= 5,136
gojelsxa 24 4,311,162 4,568,445 N2AT,283
201 er2 3| 20,960 0 20,960
01 At2teltl 20,960 0 20,960
ZOHU=SXAIL (SR 2, SSHEIHE) E
JHAH 20,960
307 gl2to| & 4,258,702 3,918,445 340,257
05 212t =S 4,176,558 3,836,301 340,257
Oo=gdiel=sia 29 3,827,404
OZA=X2t S2IXSAH X 121,259
OB WEA K& 48,400
O2HXIEZA X 41,550
OS2t SSA XI1& 137,945
11 AMISXAIEEX 82,144 82,144 0
Osgaad s|¥=e & 55,144
Osgde ez XA 27,000
403 X SHHMSAH=01H 31,500 135,000 A103,500
01 AXISHHA =2 £ 31,500 135,000 A103,500
OAlZEeIsX2 JIsE22(=4t) 31,500
el =l - F=242s K& 824,166 913,500 A\89,334

_12_




2A:

ZOHR!I= Xl

M Zoje SXNSH
s ZO0He AlEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
308 XXM SOIH 824,166 913,500 A\89,334
01 XN BELES 824,166 913,500 /89,334
Ol =225 440,042
Ol 2= X 338,736
ool =225 X 15,388
OFHI=AESHEH 2 XA (0HA) 30,000
ZULF=UESAIE JIsEH 104,500 0 104,500
= 60,000
== 44,500
403 MR HHMSAHE01H 104,500 0 104,500
= 60,000
< 44,500
01 HXIHHA 22 104,500 0 104,500
OHMLI=UESAIE JIsE2 102,000
= 60,000
= 42,000
OHUMLAUFAUESAIE JIS22(0HA) 2,500
ZOHeIXIZHEHZ S 792,000 1,262,000 A470,000
307 elztol & 792,000 862,000 A70,000
10 Al SXAAIEEHE 22X 792,000 862,000 /70,000
OSEHMHAME0ISXN2LE 2 360,000
Osg=0SguH 29 432,000
ZOHRIAIE SAK MM 1,354,820 1,361,287 N6,467
307 21201 & 300,480 314,820 14,340
10 Al2ISTIAEEE2HIEX 300,480 314,820 214,340
OFOHAXIEAIE AL HRME(E) 36,720
OZOHRIAIE BAA MRME(Z) 195,960
OZOHAAIL BAX HHZAHI(E) 67,800
308 AXIHSO0IA 1,054,340 1,046,467 7,873
01 HAHHBSEEXS 1,064,340 1,046,467 7,873
OZOHA X AIE BAA MLME(AIZ) 75,156
OZOAAIE SAF HRME(AIZ) 658, 784
OZOHLIAIE BALXE HUZAHI(AIZ) 320,400
ZoHel EAIE D18k Ot 30,000 30,000
308 AXIHSOIA 30,000 30,000
01 XN BSELES 30,000 30,000
OEAIE o 3=z Xd 30,000
SEAE TEXE ASAS 491,400 0 491,400
= 378,000
= 113,400
308 AtAIEHMSOIE 491,400 0 491,400
= 378,000
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2A:

ZoHeI= X

=

M Zoje SXNSH
s ZO0He AlEES EER=E)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
< 113,400
01 HASHHBSEEXS 491,400 0 491,400
OEANE THEAE AEA 491,400
= 378,000
= 113,400
ZOHAHFAIEIISEZ (M) 212,500 0 212,500
403 AXIEHMSAH=01 212,500 212,500
01 AXISHHA=2E XL 212,500 212,500
OZMLUHFAIE JISEL(ME) 125,000
OZOMAANFAIZ JISESZ(RNA) 60,000
OFMLNHFAIL JISEL(EE) 27,500
SOHRIHSFAIE 10T AIZE =EAME 29 500 0 500
= 350
= 150
308 XXM SOIA 500 0 500
= 350
=S 150
01 HXSHH B E2ES 500 0 500
OZOAANFAIEZ I0TAIZE SSAE 2 500
= 350
& 150
Ol HEX 3,201,504 8,271,750 A5,070,246
= 1,578,424
= 1,623,080
OB YA EES 773,265 386,120 387,145
307 212+01™ 241,965 228,590 13,375
10 AlRISTIAEEE 22X 180,978 170,432 10,546
OSHEMHAEAANLXZLE 2 180,978
11 AMEISXAEEES 60,987 58,158 2,829
OH2AE 4X| UM X2 60,987
308 AXIMSO0IA 281,300 281,300
01 HXHHBAEES 281,300 281,300
OZO0HQ BOAIE AEH H=ZAl 281,300
403 AXIEHMSAH=201d 250,000 145,350 104,650
01 HXIHHA 22X 250,000 145,350 104,650
O#HSTME L) ZOJOIZ L2IHOIE &
N 250,000
SIS LU 22| - 28 Lot =8 60,000 0 60,000
207 ARl 60,000 60,000
01 H1E4H] 60,000 60,000
OSHIMCIII =AY 22l - 82 &ot
=g 60,000
ool =H] 1,303,203 1,365,092 A\61,889
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2A:
PSR
ool

SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 1,100,109
=S 194,094
308 XXM SO0l 1,303,203 1,365,092 61,889
= 1,109,109
== 194,094
01 XN BSELES 1,303,203 1,365,092 61,889
O&ojerel =l 1,303,203
= 1,109,109
& 194,094
MNASEOHR! MEHl & ZAH X& 18,336 18,336 0
= 18,336
308 AXIHHISOIA 18,336 18,336 0
= 18,336
01 XN B2 LS 18,336 18,336 0
OMASEQ MEHl 3 S A 18,336
= 18,336
ZOHQ! MEtord X (SAZSTHE) 106,981 106,981 0
308 XXM SOIH 106,981 106,981
01 AXENB 2 LS 106,981 106,981
OZOHR! HEATIAI(AZTHEXIR) 106,981
Zopel=2=010] XA 79,124 68,503 10,621
= 73,604
< 5,520
308 AIXIHHISOIA 79,124 68,503 10,621
= 73,604
S 5,520
01 HASHHBSEXS 79,124 68,503 10,621
ORI K& 79,124
= 73,604
= 5,520
o2 KA 55,845 44,068 n., 777
308 XXM SO0IH 55,845 44,068 n., 777
01 XN B2 LS 55,845 44,068 7
O 2H7 =CcIXIH 55,845
SEEE 2X0DIHE Atell2tel 222,750 219,750 3,000
= 111,375
< 111,375
307 @20l & 222,750 219,750 3,000
= 111,375
= 111,375
11 ARRIS XA E X 222,750 219,750 3,000
OSEET EDVIIME Atgl2tel X 222,750




A HOHISKIN
33 Yo sXsd
Eelr ZOoHe! HEXIH (SH9 H2)
SA - ZE . BR() - HRAR - BES of v G o HIDE2
= 111,375
=S 111,375
ANSEHOHAEALSHE 2 532,000 0 532,000
= 266,000
< 266,000
308 AHAIEMSOIE 532,000 0 532,000
= 266,000
= 266,000
1 S| 2SO0 UeZBSHASAIE 532,000 0 532,000
OXYZe Aoz dyH 29 532,000
= 266,000
= 266,000
el 2SME & SH=s N2 50,000 50,000
308 XXM SOl 50,000 50,000
01 XN B2 LS 50,000 50,000
Ol =2sMHE & S=Ms X 50,000
YA ZHI(ZOHA=XI2) 57,077 63,000 N5,923
Jl2Z I (ZoHI =Xt 57,077 63,000 Ab,923
Jl=2ZHI(Z0=XI1) 57,077 63,000 25,923
201 2= 25,840 28,500 2,660
01 At2t2ltl 25,840 28,500 N2,660
OHHA=A SAHRFA 25,840
202 04l 25,432 28,050 AN2,618
01 =LHA LI 25,432 28,050 A2,618
OIS SAHHRFA 25,432
203 =2l 5,805 6,450 2645
03 A=A PR FA| 2,565 2,850 A285
OFMHI=X SAHR=A 2,565
M FA2SLRFEI 3,240 3,600 A360
OFMe=sX HRFH 3,240
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